PROOF OF SOME SUPERCONGRUENCES THROUGH A q-MICROSCOPE

VICTOR J. W. GUO AND HE-XIA NI*

ABSTRACT. Recently, Z.-W. Sun proposed the following conjecture: for any odd prime p and positive odd integer m,

$$\frac{1}{m^2 \binom{m-1}{(m-1)/2}^2} \left(\sum_{k=0}^{(mp-1)/2} \frac{\binom{2k}{k}^2}{16^k} - \left(\frac{-1}{p}\right) \sum_{k=0}^{(m-1)/2} \frac{\binom{2k}{k}^2}{16^k} \right) \equiv 0 \pmod{p^2}.$$

In this note, employing the "creative microscoping" method, introduced by the first author and Zudilin, we confirm the above conjecture of Sun, as well as another four similar supercongruences conjectured by Sun.

1. INTRODUCTION

Let p be an odd prime and let $\left(\frac{a}{b}\right)$ denote the Kronecker symbol. Mortenson [16,17] proved the following four supercongruences:

$$\sum_{k=0}^{p-1} \frac{1}{16^k} {\binom{2k}{k}}^2 \equiv \left(\frac{-1}{p}\right) \pmod{p^2} \text{ for } p > 2, \tag{1.1}$$

$$\sum_{k=0}^{p-1} \frac{1}{27^k} \binom{3k}{2k} \binom{2k}{k} \equiv \binom{-3}{p} \pmod{p^2} \quad \text{for } p > 3, \tag{1.2}$$

$$\sum_{k=0}^{p-1} \frac{1}{64^k} \binom{4k}{2k} \binom{2k}{k} \equiv \left(\frac{-2}{p}\right) \pmod{p^2} \quad \text{for } p > 2, \tag{1.3}$$

$$\sum_{k=0}^{p-1} \frac{1}{432^k} \binom{6k}{3k} \binom{3k}{k} \equiv \left(\frac{-1}{p}\right) \pmod{p^2} \quad \text{for } p > 3, \tag{1.4}$$

which were originally conjectured by Rodriguez-Villegas [22, (36)]. Note that the sum in (1.1) can be truncated at (p-1)/2, since $\binom{2k}{k} \equiv 0 \pmod{p}$ for $(p-1)/2 < k \leq p-1$. For a simple proof of (1.1)–(1.4), we refer the reader to [23]. Some q-analogues of (1.1)–(1.4) are given in [2,6,9,19]. More recent q-supercongruences can be found in [3–5,7,8,10,11,13–15,18,20,21,27–31].

¹⁹⁹¹ Mathematics Subject Classification. 05A19, 11A07, 11B65.

Key words and phrases. cyclotomic polynomial; *q*-binomial coefficient; *q*-congruence; supercongruence; creative microscoping.

The second author was partially supported by the National Natural Science Foundation of China (grant 12001279).

^{*}Corresponding author.

Recently, Sun [25, Conjecture 11(i)] made the following conjecture: For any prime p > 3 and positive odd integer m,

$$\frac{4^{m-1}}{m^2 \binom{m-1}{(m-1)/2}^2} \left(\sum_{k=0}^{(mp-1)/2} \frac{\binom{2k}{k}^2}{16^k} - \left(\frac{-1}{p}\right) \sum_{k=0}^{(m-1)/2} \frac{\binom{2k}{k}^2}{16^k} \right) \equiv p^2 E_{p-3} \pmod{p^3}, \quad (1.5)$$

where E_n is the *n*-th Euler number. It is clear that (1.5) is a generalization of (1.1), and the m = 1 case was already proved by Sun himself [24].

In this paper, we shall prove the supercongruence (1.5) modulo p^2 by establishing the following *q*-counterpart.

Theorem 1.1. Let m and n be positive odd integers with n > 1. Then

$$\frac{1}{[m]_{q^n}^2 {\binom{m-1}{(m-1)/2}}_{q^n}^2} \left(\sum_{k=0}^{(mn-1)/2} \frac{2(q;q^2)_k^2 q^{2k}}{(q^2;q^2)_k^2 (1+q^{2k})} - \left(\frac{-1}{n}\right) \sum_{k=0}^{(m-1)/2} \frac{2(q^n;q^{2n})_k^2 q^{2nk}}{(q^{2n};q^{2n})_k^2 (1+q^{2nk})} \right) \\
\equiv 0 \pmod{\Phi_n(q)^2}.$$
(1.6)

Moreover, the denominator of (the reduced form of) the left-hand side of (1.6) is relatively prime to $\Phi_{n^j}(q)$ for any index $j \ge 2$.

Here and in what follows, the *q*-integer is defined by $[n]_q = 1 + q + \cdots + q^{n-1}$, the *q*-shifted factorial is defined by $(a; q)_n = (1-a)(1-aq)\cdots(1-aq^{n-1})$ for $n = 0, 1, \ldots$, and the *q*-binomial coefficient is defined as

$$\begin{bmatrix} m \\ n \end{bmatrix}_q = \begin{cases} \frac{(q;q)_m}{(q;q)_n(q;q)_{m-n}}, & \text{if } 0 \leqslant n \leqslant m, \\ 0, & \text{otherwise.} \end{cases}$$

Moreover, $\Phi_n(q)$ is the *n*-th cyclotomic polynomial in q given by

$$\Phi_n(q) = \prod_{\substack{1 \le k \le n \\ \gcd(k,n)=1}} (q - \zeta^k),$$

where ζ is an *n*-th primitive root of unity.

It is easy to see that $\Phi_n(1) = p$ if $n = p^r$ $(r \ge 1)$ is a prime power and $\Phi_n(1) = 1$ otherwise. Meanwhile, the denominator of (1.6) is clearly a product of cyclotomic polynomials. This implies that the supercongruence (1.5) modulo p^2 immediately follows from (1.6) by putting n = p and taking $q \to 1$, since $\lim_{q \to 1} (q; q^2)_k / (q^2; q^2)_k = {\binom{2k}{k}}/4^k$.

Sun (see [26, Conjecture 5.4]) also proposed the following generalizations of (1.1)–(1.4): For any prime p > 3 and positive integer m,

$$\frac{1}{m^2 \binom{2m}{m}^2} \left(\sum_{k=0}^{mp-1} \frac{\binom{2k}{k}^2}{16^k} - \left(\frac{-1}{p}\right) \sum_{k=0}^{m-1} \frac{\binom{2k}{k}^2}{16^k} \right) \equiv 0 \pmod{p^2}, \tag{1.7}$$

$$\frac{1}{m^2 \binom{3m}{m}\binom{2m}{m}} \left(\sum_{k=0}^{mp-1} \frac{\binom{3k}{k}\binom{2k}{k}}{27^k} - \left(\frac{-3}{p}\right)\sum_{k=0}^{m-1} \frac{\binom{3k}{k}\binom{2k}{k}}{27^k} \right) \equiv 0 \pmod{p^2}, \tag{1.8}$$

PROOF OF SOME SUPERCONGRUENCES THROUGH A q-MICROSCOPE

$$\frac{1}{m^2\binom{4m}{2m}\binom{2m}{m}} \left(\sum_{k=0}^{mp-1} \frac{\binom{4k}{2k}\binom{2k}{k}}{64^k} - \left(\frac{-2}{p}\right)\sum_{k=0}^{m-1} \frac{\binom{4k}{2k}\binom{2k}{k}}{64^k}\right) \equiv 0 \pmod{p^2}, \tag{1.9}$$

$$\frac{1}{m^2 \binom{6m}{3m} \binom{3m}{m}} \left(\sum_{k=0}^{mp-1} \frac{\binom{6k}{3k} \binom{3k}{k}}{432^k} - \left(\frac{-1}{p} \right) \sum_{k=0}^{m-1} \frac{\binom{6k}{3k} \binom{3k}{k}}{432^k} \right) \equiv 0 \pmod{p^2}.$$
(1.10)

Note that the supercongruences (1.7)-(1.10), without the fractions before the brackets, have been obtained by Liu [12]. Moreover, in the case where $m = p^{r-1}$, the supercongruence (1.7) was proved by the first author and Zudilin [11], and the supercongruences (1.8)-(1.10) were confirmed by the second author [18].

Let $\langle x \rangle_n$ denote the least nonnegative residue of x modulo n. In this paper, we shall prove (1.7)–(1.10) by establishing the following q-supercongruence.

Theorem 1.2. Let s, d, m be positive integers with s < d. Let n > 1 be an odd integer with $n \equiv \pm 1 \pmod{d}$. Then, modulo $\Phi_n(q)^2$,

$$\frac{(q^{dn}; q^{dn})_m^2}{[m]_{q^n}^2 (q^{sn}; q^{dn})_m (q^{(d-s)n}; q^{dn})_m} \left(\sum_{k=0}^{mn-1} \frac{2(q^s; q^d)_k (q^{d-s}; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})} - (-1)^{\langle -s/d \rangle_n} \sum_{k=0}^{m-1} \frac{2(q^{sn}; q^{dn})_k (q^{(d-s)n}; q^{dn})_k q^{dnk}}{(q^{dn}; q^{dn})_k^2 (1+q^{dnk})} \right) \equiv 0.$$
(1.11)

Moreover, the denominator of (the reduced form of) the left-hand side of (1.11) is relatively prime to $\Phi_{nj}(q)$ for any index $j \ge 2$.

It is easy to see that, for any odd prime p,

$$(-1)^{\langle -1/2 \rangle_p} = \left(\frac{-1}{p}\right), \quad (-1)^{\langle -1/4 \rangle_p} = \left(\frac{-2}{p}\right),$$

and for any prime p > 3,

$$(-1)^{\langle -1/3 \rangle_p} = \left(\frac{-3}{p}\right), \quad (-1)^{\langle -1/6 \rangle_p} = \left(\frac{-1}{p}\right).$$

For d = 2, 3, 4, 6, and any prime p > 3, we always have $p \equiv \pm 1 \pmod{d}$. Thus, for d = 2, 3, 4, 6, s = 1, letting n be a prime and then taking $q \to 1$ in Theorem 1.2, we obtain the supercongruences (1.7)–(1.10).

Moreover, for general d and s, letting n = p and $q \to 1$ in Theorem 1.2, we are led to the following result, which confirms the first part of [25, Conjecture 10].

Corollary 1.3. Let s, d, m be positive integers with s < d. Let p be an odd prime with $p \equiv \pm 1 \pmod{d}$. Then

$$\frac{\sum_{k=0}^{pm-1} {\binom{-s/d}{k}} {\binom{(s-d)/d}{k}} - (-1)^{\langle -s/d \rangle_p} \sum_{k=0}^{m-1} {\binom{-s/d}{k}} {\binom{(s-d)/d}{k}}}{p^2 m^2 {\binom{-s/d}{m}} {\binom{-(d-s)/d}{m}}}$$

is a p-adic integer.

3

We shall prove Theorem 1.1 in the next section by using the 'creative microscoping' method devised by the first author and Zudilin [10]. More precisely, we shall first give a generalization of Theorem 1.1 with an additional parameter a, and then we deduce Theorem 1.1 from this generalization by choosing a = 1. Finally, we shall prove Theorem 1.2 in Section 3 using the same method.

2. Proof of Theorem 1.1

We need the following result, which was proved by the first author [2, Corollary 1.4].

Lemma 2.1. Let d, n, and s be positive integers with gcd(d, n) = 1 and n odd. Then, modulo $(1 - aq^{s+d\langle -s/d\rangle_n})(a - q^{d-s+d\langle (s-d)/d\rangle_n}),$

$$\sum_{k=0}^{n-1} \frac{2(aq^s; q^d)_k (q^{d-s}/a; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})} \equiv (-1)^{\langle -s/d \rangle_n}.$$
(2.1)

We have the following parametric generalization of Theorem 1.1.

Theorem 2.2. Let m and n be positive odd integers with n > 1. Then, modulo

$$\prod_{j=0}^{(m-1)/2} (1 - aq^{(2j+1)n})(a - q^{(2j+1)n}), \qquad (2.2)$$

we have

$$\sum_{k=0}^{(mn-1)/2} \frac{2(aq;q^2)_k(q/a;q^2)_k q^{2k}}{(q^2;q^2)_k^2(1+q^{2k})} \equiv \left(\frac{-1}{n}\right) \sum_{k=0}^{(m-1)/2} \frac{2(aq^n;q^{2n})_k(q^n/a;q^{2n})_k q^{2nk}}{(q^{2n};q^{2n})_k^2(1+q^{2nk})}.$$
 (2.3)

Proof. It suffices to prove that both sides of (2.3) are identical for $a = q^{-(2j+1)n}$ and $a = q^{(2j+1)n}$ with $j = 0, 1, \ldots, (m-1)/2$, i.e.,

$$\sum_{k=0}^{(mn-1)/2} \frac{2(q^{1-(2j+1)n}; q^2)_k (q^{1+(2j+1)n}; q^2)_k}{(q^2; q^2)_k^2 (1+q^{2k})} q^{2k}$$
$$= \left(\frac{-1}{n}\right) \sum_{k=0}^{(m-1)/2} \frac{2(q^{-2jn}; q^{2n})_k (q^{(2j+2)n}; q^{2n})_k}{(q^{2n}; q^{2n})_k^2 (1+q^{2nk})} q^{2nk}.$$
(2.4)

Note that the congruence (2.1) with d = 2 and s = 1 reduces to

$$\sum_{k=0}^{n-1} \frac{2(aq;q^2)_k (q/a;q^2)_k q^{2k}}{(q^2;q^2)_k^2 (1+q^{2k})} \equiv \left(\frac{-1}{n}\right) \pmod{(1-aq^n)(a-q^n)}.$$
 (2.5)

Clearly, $(mn-1)/2 \ge ((2j+1)n-1)/2$ for $0 \le j \le (m-1)/2$, and $(q^{1-(2j+1)n}; q^2)_k = 0$ for k > ((2j+1)n-1)/2. In view of (2.5), the left-hand side of (2.4) is equal to $(\frac{-1}{(2j+1)n})$. Similarly, the right-hand side of (2.4) is equal to

$$\left(\frac{-1}{n}\right)\left(\frac{-1}{2j+1}\right) = \left(\frac{-1}{(2j+1)n}\right),$$

where $\left(\frac{-1}{1}\right)$ is understood to be 1. This establishes the identity (2.4), and so the *q*-congruence (2.3) holds.

Now we can prove Theorem 1.1.

Proof of Theorem 1.1. It is well known that

$$q^N - 1 = \prod_{d|N} \Phi_d(q).$$

Let $\lfloor x \rfloor$ stand for the integral part of a real number x. For any positive integer j, there exist $\lfloor m/n^{j-1} \rfloor - \lfloor (m-1)/(2n^{j-1}) \rfloor$ multiples of n^{j-1} in the arithmetic progression $1, 3, \ldots, m$. Thus, the a = 1 case of (2.2) has the factor

$$\prod_{j=1}^{\infty} \Phi_{n^j}(q)^{2\lfloor m/n^{j-1} \rfloor - 2\lfloor (m-1)/(2n^{j-1}) \rfloor}.$$

On the other hand, the least common denominator of the left-hand side of (2.3) is a multiple of that of the right-hand side of (2.3). The former is at most equal to $(q^2; q^2)^2_{(mn-1)/2}(-q^2; q^2)_{(mn-1)/2}$ and its factor related to $\Phi_n(q), \Phi_{n^2}(q), \ldots$ is just

$$\prod_{j=1}^{\infty} \Phi_{n^j}(q)^{2\lfloor (mn-1)/(2n^j)\rfloor},$$

since $(-q^2; q^2)_{(mn-1)/2}$ is relatively prime to $\Phi_{n^j}(q)$ for any $j \ge 1$.

Furthermore, writing $[m]_q = (q;q)_m/((1-q)(q;q)_{m-1})$, the central q-binomial coefficient $\binom{m-1}{(m-1)/2}$ as a product of different cyclotomic polynomials (see [1]), and then utilizing the fact $\Phi_{nj}(q^n) = \Phi_{nj+1}(q)$, we see that the polynomial $[m]_{q^n}^2 \binom{m-1}{(m-1)/2}_{q^n}^2$ only has the following factor

$$\prod_{j=2}^{\infty} \Phi_{n^j}(q)^{2\lfloor m/n^{j-1} \rfloor - 4\lfloor (m-1)/(2n^{j-1}) \rfloor}$$

related to $\Phi_n(q), \Phi_{n^2}(q), \ldots$

It is clear that

$$2\lfloor m/n^{j-1} \rfloor - 2\lfloor (m-1)/(2n^{j-1}) \rfloor - 2\lfloor (mn-1)/(2n^j) \rfloor = 2$$
 for $j = 1$,

and

$$\lfloor (mn-1)/(2n^j) \rfloor = \lfloor (m-1)/(2n^{j-1}) \rfloor$$
 for $j > 1$.

Therefore, letting a = 1 in (2.3), we conclude that the *q*-congruence (1.6) holds, and the denominator on the left-hand side of (1.6) is not divisible by $\Phi_{n^j}(q)$ for any index $j \ge 2$. This completes the proof.

VICTOR J. W. GUO AND HE-XIA NI

3. Proof of Theorem 1.2

We first establish the following parametric generalization of Theorem 1.2 for $n \equiv 1 \pmod{d}$.

Theorem 3.1. Let s, d, m be positive integers with s < d. Let n > 1 be an odd integer with $n \equiv 1 \pmod{d}$. Then, modulo

$$\prod_{j=0}^{m-1} (1 - aq^{n(dj+s)})(a - q^{n(dj+d-s)}),$$
(3.1)

we have

$$\sum_{k=0}^{mn-1} \frac{2(aq^s; q^d)_k (q^{d-s}/a; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})} \equiv (-1)^{\langle -s/d \rangle_n} \sum_{k=0}^{m-1} \frac{2(aq^{sn}; q^{dn})_k (q^{(d-s)n}/a; q^{dn})_k q^{dnk}}{(q^{dn}; q^{dn})_k^2 (1+q^{dnk})}.$$
(3.2)

Proof. We need to show that both sides of (3.2) are equal for $a = q^{-(dj+s)n}$ and $a = q^{n(dj+d-s)}$ (j = 0, 1, 2, ..., m-1). Namely,

$$\sum_{k=0}^{mn-1} \frac{2(q^{s-n(dj+s)}; q^d)_k (q^{d-s+n(dj+s)}; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})}$$
$$= (-1)^{\langle -s/d \rangle_n} \sum_{k=0}^{m-1} \frac{2(q^{sn-n(dj+s)}; q^{dn})_k (q^{(d-s)n+n(dj+s)}; q^{dn})_k q^{dnk}}{(q^{dn}; q^{dn})_k^2 (1+q^{dnk})}, \qquad (3.3)$$

and

$$\sum_{k=0}^{mn-1} \frac{2(q^{s+n(dj+d-s)}; q^d)_k (q^{d-s-n(dj+d-s)}; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})}$$
$$= (-1)^{\langle -s/d \rangle_n} \sum_{k=0}^{m-1} \frac{2(q^{sn+n(dj+d-s)}; q^{dn})_k (q^{(d-s)n-n(dj+d-s)}; q^{dn})_k q^{dnk}}{(q^{dn}; q^{dn})_k^2 (1+q^{dnk})}.$$
(3.4)

It is clear that $mn - 1 \ge nj + s(n-1)/d$ and $mn - 1 \ge nj + (d-s)(n-1)/d$ for $j = 0, 1, 2, \ldots, m-1$. Since $n \equiv 1 \pmod{d}$, we get $\langle -s/d \rangle_n = s(n-1)/d$ and $\langle (s-d)/d \rangle_n = (d-s)(n-1)/d$. By Lemma 2.1, the left-hand side of (3.3) is equal to

$$(-1)^{nj+s(n-1)/d}$$
.

Similarly, the right-hand side of (3.3) is equal to

$$(-1)^{(sn-s)/d}(-1)^j = (-1)^{j+s(n-1)/d},$$

thus establishing (3.3). In the same way, we can also prove that both sides of (3.4) are equal to $(-1)^{j+(d-s)(n-1)/d}$. This proves the *q*-congruence (3.2).

We now give a parametric generalization of Theorem 1.2 for $n \equiv -1 \pmod{d}$.

Theorem 3.2. Let s, d, m be positive integers with s < d. Let n > 1 be an odd integer with $n \equiv -1 \pmod{d}$. Then, modulo (3.1),

$$\sum_{k=0}^{mn-1} \frac{2(q^s/a;q^d)_k (aq^{d-s};q^d)_k q^{dk}}{(q^d;q^d)_k^2 (1+q^{dk})} \equiv (-1)^{\langle -s/d\rangle_n} \sum_{k=0}^{m-1} \frac{2(aq^{sn};q^{dn})_k (q^{(d-s)n}/a;q^{dn})_k q^{dnk}}{(q^{dn};q^{dn})_k^2 (1+q^{dnk})}.$$
(3.5)

Proof. For $a = q^{-n(dj+s)}$ with $0 \leq j \leq m-1$, by Lemma 2.1, the left-hand side of (3.5) is equal to

$$\sum_{k=0}^{mn-1} \frac{2(q^{s+n(dj+s)}; q^d)_k (q^{d-s-n(dj+s)}; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})} = (-1)^{j-1+s(n+1)/d},$$

Similarly, the right-hand side of (3.5) is equal to

$$(-1)^{\langle -s/d \rangle_n} (-1)^j = (-1)^{n-(n+1)s/d+j} = (-1)^{j-1+s(n+1)/d},$$

where we have used the fact that $\langle -s/d \rangle_n = n - s(n+1)/d$ since $n \equiv -1 \pmod{d}$. Hence, the *q*-congruence (3.5) is true modulo $\prod_{j=0}^{m-1} (1 - aq^{n(dj+s)})$.

For $a = q^{n(dj+d-s)}$ with $0 \leq j \leq m-1$, the left-hand side of (3.5) is equal to

$$\sum_{k=0}^{mn-1} \frac{2(q^{s-n(dj+d-s)}; q^d)_k (q^{(d-s)+n(dj+d-s)}; q^d)_k q^{dk}}{(q^d; q^d)_k^2 (1+q^{dk})} = (-1)^{j-1+s(n+1)/d}$$

which is the same as the right-hand side of (3.5). This proves (3.5) modulo $\prod_{j=0}^{m-1} (a - q^{n(dj+d-s)})$.

Proof of Theorem 1.2. We first consider the $n \equiv 1 \pmod{d}$ case. For any positive integer j, there exist exactly

$$\left\lfloor \frac{(m-1) - s(n^{j-1} - 1)/d}{n^{j-1}} \right\rfloor + 1$$

multiples of n^{j-1} in the set $\{dj + s : j = 0, \dots, m-1\}$, and there exist exactly

$$\left\lfloor \frac{(m-1) - (d-s)(n^{j-1}-1)/d}{n^{j-1}} \right\rfloor + 1$$

multiples of n^{j-1} in the set $\{dj + d - s : j = 0, \dots, m-1\}$. Thus, the a = 1 case of (3.1) has the factor

$$\prod_{j \ge 1} \Phi_{n^{j}}(q)^{\left\lfloor \frac{(m-1)-s(n^{j-1}-1)/d}{n^{j-1}} \right\rfloor + \left\lfloor \frac{(m-1)-(d-s)(n^{j-1}-1)/d}{n^{j-1}} \right\rfloor + 2}.$$

Similarly, using the fact $\Phi_{n^j}(q^n) = \Phi_{n^{j+1}}(q)$, we conclude that the denominator of the reduced form of the fraction

$$\frac{(q^{dn};q^{dn})_m^2}{[m]_{q^n}^2(q^{sn};q^{dn})_m(q^{(d-s)n};q^{dn})_m}$$

only has the following factor

$$\prod_{j \ge 2} \Phi_{n^j}(q)^{\left\lfloor \frac{(m-1) - s(n^{j-1} - 1)/d}{n^{j-1}} \right\rfloor + \left\lfloor \frac{(m-1) - (d-s)(n^{j-1} - 1)/d}{n^{j-1}} \right\rfloor + 2 - 2 \lfloor \frac{m-1}{n^{j-1}} \rfloor}$$

related to $\Phi_n(q), \Phi_{n^2}(q), \ldots$

On the other hand, the least common denominator of the left-hand side of (3.2) is divisible by that of the right-hand side of (3.2). The former is at most equal to $(q^d; q^d)_{mn-1}^2 \prod_{k=1}^{mn-1} (1+q^{dk})$ and its factor related to $\Phi_n(q), \Phi_{n^2}(q), \ldots$ is just

$$\prod_{j=1}^{\infty} \Phi_{n^j}(q)^{2\lfloor (mn-1)/n^j \rfloor}$$

It is clear that

$$2\left\lfloor (m-1)/n^{j-1} \right\rfloor + 2 - 2\left\lfloor (mn-1)/n^{j} \right\rfloor = 2 \quad \text{for } j = 1,$$
(3.6)

and

$$\left\lfloor (m-1)/n^{j-1} \right\rfloor = \left\lfloor (mn-1)/n^j \right\rfloor \quad \text{for } j > 1.$$
(3.7)

Thus, taking a = 1 in (3.2), we see that the $n \equiv 1 \pmod{d}$ case of (1.11) is true modulo $\Phi_n(q)^2$, and the denominator of (the reduced form of) the left-hand side of (1.11) is relatively prime to $\Phi_{nj}(q)$ for any index $j \ge 2$.

We now consider the $n \equiv -1 \pmod{d}$ case. The proof is similar to that of the $n \equiv 1 \pmod{d}$ case (firstly let a = 1 in (3.5) and finally employ (3.6) and (3.7)). However, there is no need to give the factor of the a = 1 case of (3.1) related to $\Phi_n(q), \Phi_{n^2}(q), \ldots$ (it is not so easy as before). This is because the a = 1 case of (3.1) is just $(q^{sn}; q^{dn})_m (q^{(d-s)n}; q^{dn})_m$, which appears in the denominator of the fraction before the summation in (1.11).

Data availability. All data generated during this study are included in the published article.

Acknowledgement. The authors thank the anonymous referees for helpful comments on a previous version of this paper.

References

- W.Y.C. Chen and Q.-H. Hou, Factors of the Gaussian coefficients, Discrete Math. 306 (2006), 1446–1449.
- [2] V.J.W. Guo, Some q-congruences with parameters, Acta Arith. 190 (2019), 381–393.
- [3] V.J.W. Guo, Proof of a generalization of the (C.2) supercongruence of Van Hamme, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 115 (2021), Art. 45.
- [4] V.J.W. Guo and L. Li, q-supercongruences from squares of basic hypergeometric series, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 117 (2023), Art. 26.
- [5] V.J.W. Guo and H.-X. Ni, Further generalizations of four supercongruences of Rodriguez-Villegas, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 117 (2023), Art. 49.
- [6] V.J.W. Guo, H. Pan and Y. Zhang, The Rodriguez-Villegas type congruences for truncated q-hypergeometric functions, J. Number Theory 174 (2017), 358–368.

- [7] V.J.W. Guo and M.J. Schlosser, Some q-supercongruences from transformation formulas for basic hypergeometric series, Constr. Approx. 53 (2021), 155–200.
- [8] V.J.W. Guo and M.J. Schlosser, Three families of q-supercongruences modulo the square and cube of a cyclotomic polynomial, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 117 (2023), Art. 9.
- [9] V.J.W. Guo and J. Zeng, Some q-analogues of supercongruences of Rodriguez-Villegas, J. Number Theory 145 (2014), 301–316.
- [10] V.J.W. Guo and W. Zudilin, A q-microscope for supercongruences, Adv. Math. 346 (2019), 329–358.
- [11] V.J.W. Guo and W. Zudilin, Dwork-type supercongruences through a creative q-microscope, J. Combin. Theory, Ser. A 178 (2021), Art. 105362.
- [12] J.-C. Liu, Congruences for truncated hypergeometric series ${}_2F_1$, Bull. Aust. Math. Soc. 96 (2017), 14–23.
- [13] J-C. Liu, On a congruence involving q-Catalan numbers, C. R. Math. Acad. Sci. Paris 358 (2020), 211–215.
- [14] J.-C. Liu and F. Petrov, Congruences on sums of q-binomial coefficients, Adv. Appl. Math. 116 (2020), Art. 102003.
- [15] Y. Liu and X. Wang, q-Analogues of two Ramanujan-type supercongruences, J. Math. Anal. Appl. 502 (2021), Art. 125238.
- [16] E. Mortenson, A supercongruence conjecture of Rodriguez-Villegas for a certain truncated hypergeometric function, J. Number Theory 99 (2003), 139–147.
- [17] E. Mortenson, Supercongruences between truncated $_2F_1$ hypergeometric functions and their Gaussian analogs, Trans. Amer. Math. Soc. 355 (2003), 987–1007.
- [18] H.-X. Ni, A q-Dwork-type generalization of Rodriguez-Villegas' congruences, Rocky Mountain J. Math. 51 (2021), 2179–2184.
- [19] H.-X. Ni and H. Pan, On a conjectured q-congruence of Guo and Zeng, Int. J. Number Theory 14 (2018), 1699–1707.
- [20] H.-X. Ni and H. Pan, Some symmetric q-congruences modulo the square of a cyclotomic polynomial, J. Math. Anal. Appl. 481 (2020), Art. 123372.
- [21] H.-X. Ni and L.-Y. Wang, Two q-supercongruences from Watsons transformation, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 116 (2022), Art. 30.
- [22] F. Rodriguez-Villegas, Hypergeometric families of Calabi–Yau manifolds, in: Calabi–Yau Varieties and Mirror Symmetry (Toronto, ON, 2001), Fields Inst. Commun., 38, Amer. Math. Soc., Providence, RI, 2003, pp. 223–231.
- [23] Z.-H. Sun, Generalized Legendre polynomials and related supercongruences, J. Number Theory 143 (2014), 293–319.
- [24] Z.-W. Sun, Super congruences and Euler numbers, Sci. China Math. 54 (2011), 2509–2535.
- [25] Z.-W. Sun, Open conjectures on congruences, Nanjing Univ. J. Math. Biquarterly 36 (2019), no. 1, 1–99.
- [26] Z.-W. Sun, Supercongruences involving Lucas sequences, Monatsh. Math. 196 (2021), 577–606.
- [27] N. Tang, A new q-supercongruence modulo the fourth power of a cyclotomic polynomial, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 117 (2023), Art. 101..
- [28] X. Wang and M. Yue, A q-analogue of a Dwork-type supercongruence, Bull. Aust. Math. Soc. 103 (2021), 303–310.
- [29] C. Wei, A further q-analogue of Van Hamme's (H.2) supercongruence for any prime $p \equiv 1 \pmod{4}$, Results Math. 76 (2021), Art. 92.
- [30] C. Wei, Some q-supercongruences modulo the fourth power of a cyclotomic polynomial, J. Combin. Theory Ser. A 182 (2021), Art. 105469.
- [31] W. Zudilin, Congruences for q-binomial coefficients, Ann. Combin. 23 (2019), 1123–1135.

SCHOOL OF MATHEMATICS AND STATISTICS, HUAIYIN NORMAL UNIVERSITY, HUAI'AN 223300, JIANGSU, PEOPLE'S REPUBLIC OF CHINA *E-mail address*: jwguo@hytc.edu.cn

Department of Applied Mathematics, Nanjing Audit University, Nanjing 211815, People's Republic of China

E-mail address: nihexia@yeah.net

10